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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.
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State and explain methods of electromechanical energy conversion.
Explain singly excited and doubly excited field system

Explain various losses occurs in DC machine.

Draw and explain different parts of DC machine.
OR

Derive emf equation of DC generator.

Explain with diagram load characteristics of DC shunt generator.
A short shunt compound generator delivers load current of 30A at 220V has
armature, series field and shunt field resistances of 0.05 ohm and 0.30 ohm
and 200 ohm respectively. Calculate the induced e.m.f. and armature current.
Allow 1.0V per brush for contact drop.

OR
Derive torque equation of DC motor.
Draw and explain 3 point starter of DC motor

Explain different methods of speed control of DC series motor.
Explain break test of DC motor.

OR
A 4- pole 220V shunt motor has 540 lap-wound conductor.it takes 32A from
supply mains and develops output power of 5.595 KW. The field winding
takes 1A. the armature resistance is 0.09 ohms and flux per pole is 30 mWh.
Calculate i) speed ii) torque developed in N-m.
What is armature reaction? Explain it.

Explain conditions of parallel operations of transformer.
Why cooling of transformer is necessary? Explain any 2 methods

OR
Calculate percentage voltage drop for transformer with a percentage resistance
of 2.5% and a percentage reactance of 5% of rating500 KvA when it is
delivering 400 KvA at 0.8 p.f. lagging.
Draw and explain vector diagram of I-¢ transformer for leading power factor
load.
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